Badminton

Answers

1. Badminton is played with a... Tick one.

Q bat
@) racket
(O ball

2. Badminton is played on a... Tick one.

@ court
(O field
(O pitch

3. A shuttle is hit across a... Tick one.

4. To win you need... Tick one.

O 12 points
O 18 points
&) 21 points

5. People play because they can... Tick one.

@) get fit
O get home
O go shopping
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Badminton

Answers

1. Badminton is a sport played with a... Tick one.

@ racket and shuttle
(O bat and ball
(O club and ball

2. Fill in the missing word.

People can play in competitions at different levels.

3. Match up the words.

Number of points 5
to win
Number of players in 4
a singles game
Number of players in
21
a doubles game

4. Players need a shuttle to... Tick one.

() throw across the net
(O kick across the net
) hit across the net

5. Why do players need to wear trainers?

So they don't slip on the court when trying to hit the shuttle.
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Badminton

Answers

1. What is the job of Badminton Scotland?

To make sure people get opportunities to play and improve throughout
the country.

2. Match up the words.

popular hold
skill liked
grip ability

3. Fill in the missing words.

Badminton is a popular sport and many people play it
to exercise and get fit.

4. Find and copy one word that means alternative.

Different

5. Why is footwork important in badminton?

It helps players to reach the shuttle in the fastest and shortest time
possible.

6. Which fact do you think is the most interesting? Give a reason for your answer.

Pupils responses will vary.
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